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( MPLS . 10.10.13.214

Routert¥show ip route
Gateway of last resort is 10.10.11.2 to network 0.0.0.0

209.165.200.0/27 1s subnetied, 1 subnets

B 209 165200224 [20/0] via 10 10.12 2, 03:22:14
209 185 201 027 1s subnetted, 1 subnets

B 209.165201.0 [20/0] via 10.10.12.2, 02.26:33

209.165.202.0/27 is subnetied, 1 subnets
209165202 128 [20/0] via 10.10.12 2, 02:26:03

10 0.0 0/8 15 vanably subnefted, 8 subnets, 4 masks
10.10.10 0/28 1s dwectly connected, GigabitEthernet/0
10.10.11.0/30 is directly connected, FastEthemet2/0
10.10.12.0/30 is directly connected, GigabitEthernet0/1
10.10.13.0725 [11072] via 10.10.10.1, 00:00:04, GigabiEthemet0/0 &
10.10.13 128728 [110/2] via 10 10.10 1, 00:00-04, GigabiEthemet(/0
10.10.13.144/28 [110/2] via 10 10.10.1, 00:00:04, Gigabi{Ethemnet(/0
10.10.13.160/29 [110/2] via 10.10.10.1, 00.00.04, GigabitEthernet(/0
10.10.13.208/29 [110/2] via 10.10.10.1, 00:00:04, GigabilEthemet0/0

0.0.0.0/0[1/0] via 10.10.11.2

m

NODOOOOOO

10.10.10.0/28
10.10.13.0/25
10.10.13.144/28
10.10.13.208/29

oo W

Correct Answer: D

Explanation:

Host A address fall within the address range. However, if more than one route to the same subnet
exist (router will use the longest stick match, which match more specific route to the subnet). If
there are route 10.10.13.192/26 and 10.10.13.208/29, the router will forward the packet to /29
rather than /28.

QUESTION 305
Which result occurs when PortFast is enabled on an interface that is connected to another
switch?

A. Spanning tree may fail to detect a switching loop in the network that causes broadcast storms
B. VTP is allowed to propagate VLAN configuration information from switch to switch automatically.
C. Root port choice and spanning tree recalculation are accelerated when a switch link goes down
D. After spanning tree converges PortFast shuts down any port that receives BPDUs.

Correct Answer: A

Explanation:

Enabling the PortFast feature causes a switch or a trunk port to enter the STP forwarding-state
immediately or upon a linkup event, thus bypassing the listening and learning states.

Note:
To enable portfast on a trunk port you need the trunk keyword "spanning-tree portfast trunk

QUESTION 306
How does CAPWAP communicate between an access point in local mode and a WLC?
A. The access point must directly connect to the WLC using a copper cable
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The access point must not be connected to the wired network, as it would create a loop

The access point must be connected to the same switch as the WLC

The access point has the ability to link to any switch in the network, assuming connectivity to the
WLC

ocow

Correct Answer: D

QUESTION 307

DRAG DROP

Drag and drop the lightweight access point operation modes from the left onto the descriptions on
the right.

allows the access point to commanicate with the WLC
bridge made over 3 WAN link
local mode allows for packet captures of wireless traffic
monitor mode rogue detector mode
’ preferred for connecting access points
Flexconnect mode in a mesh environment

receive only mode which acts as 2 dedicated
sensor for RFID and IDS

sniffer mode e el o
Correct Answer:

bridge mode local mode

local mode sniffer mode

monitor mode rogue detactor mode
Flexconnect mode bridge mode

Flexconnect mode
sniffer mode monitor mode

QUESTION 308
An engineer must configure traffic for a VLAN that is untagged by the switch as it crosses a trunk
link. Which command should be used?

A. switchport trunk allowed vlan 10
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B. switchport trunk native vlian 10
C. switchport mode trunk
D. switchport trunk encapsulation dot1q

Correct Answer: B

QUESTION 309
What is the effect when loopback interfaces and the configured router ID are absent during the
OSPF Process configuration?

A. No router ID is set, and the OSPF protocol does not run.

B. The highest up/up physical interface IP address is selected as the router ID.
C. The lowest IP address is incremented by 1 and selected as the router ID.

D. The router ID 0.0.0.0 is selected and placed in the OSPF process.

Correct Answer: B

QUESTION 310
Refer to the exhibit. How does router R1 handle traffic to 192.168.10.167

R1# show ip route

D 192.168.10,0/24 [90/2679326] via 192.168.1.1
R 192.168.10.0/27 [120/3] wvia 192.168.1.2

0 192.168.10.0/23 [110/2] via 192.168.1.3

i 11 192.168.10.0/13 [115/30] wvia 192.168.1.4

It selects the IS-IS route because it has the shortest prefix inclusive of the destination address.
It selects the EIGRP route because it has the lowest administrative distance.

It selects the OSPF route because it has the lowest cost.

It selects the RIP route because it has the longest prefix inclusive of the destination address.

OO W

Correct Answer: D

QUESTION 311

Refer to the exhibit. An engineer configured the New York router with state routes that point to the
Atlanta and Washington sites. When command must be configured on the Atlanta and
Washington routers so that both sites are able to reach the loopback?2 interface on the New York
router?

. o U8 Configured routers IPvE addresses
Se00 o ;
U seom Atlanta
flanta I..‘-l:.fna_nur Senal 000 _—,,,1_‘> 1126
31 - Loopback1: 2000 1/128
Y

Hew

Washengton
Senal (N0V0 2023 V126
Loopback3: 20003128

= g
Se0 S

New-York
Lo2

A. ipv6 route ::/0 Serial 0/0/1
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ipv6 route 0/0 Serial 0/0/0

ipv6 route ::/0 Serial 0/0/0

ip route 0.0.0.0.0.0.0.0 Serial 0/0/0
ipv6 route ::/0 2000::2

moow

Correct Answer: C

QUESTION 312

Refer to the exhibit. The New York router is configured with static routes pointing to the Atlanta
and Washington sites. Which two tasks must be performed so that the Serial0/0/0 interfaces on
the Atlanta and Washington routers can reach one another? (Choose two.)

~7 se0/0/0 ¢ i Configured routers IPvG addresses
% 5e000 & - Atianta
Aflanta &335“*“910" Serial 0/0/0 2012 1/126
Lof = e Loopback1: 2000:1/128
o 2012:/126 Vo
Sernial 0/0/0 - 2012-2/126
= Serial 0/0/1  2023-2/126
pe Loopback2 2000 2/128
- Washington
Se0/0/0 Mrepd® Se0/0/1 Serial 0/0/0 2023 3/126
™ | Loopback3: 200073/128
New-York
Lo2
A. Configure the ipv6 route 2012::/126 2023::1 command on the Washington router.
B. Configure the ipv6 route 2023::/126 2012::1 command on the Atlanta router.
C. Configure the Ipv6 route 2012::/126 s0/0/0 command on the Atlanta router.
D. Configure the ipv6 route 2023::/126 2012::2 command on the Atlanta router.
E. Configure the ipv6 route 2012::/126 2023::2 command on the Washington router.

Correct Answer: DE
Explanation:
The short syntax of static IPv6 route is:ipv6 route <destination-IPv6-address> {next-hop-IPv6-

address | exit-interface}

QUESTION 313
An engineer must establish a trunk link between two switches. The neighboring switch is set to
trunk or desirable mode. What action should be taken?

A. configure switchport nonegotiate

B. configure switchport mode dynamic desirable
C. configure switchport mode dynamic auto

D. configure switchport trunk dynamic desirable

Correct Answer: C

QUESTION 314
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DRAG DROP

Drag the descriptions of IP protocol transmissions from the left onto the IP traffic types on the
right.

[TCP
sends transmissions In sequence
transmissions include an B-byte header
transmits packets as a stream
transmits packets individually
LDP
uses a higher transmission rate to support
latency-sensitive applications
uses a lower transmission rate to ensura rellability
Correct Answer:
free
sends transmissions in sequence
sends transmissions in sequence
transmissions include an 8-byte header
transmits packets as a stream
transmits packets as a stream
uses a lower transmission rate to ensure rellability
transmits packets individually
LDP
uses a higher transmission rate to support transmissions include an B-byte header
latency-sensitive applications
transmits packets individually
uses a lower transmission rate to ensure rellability
uses a higher transmission rate to support
latency-sensitive applications

QUESTION 315
DRAG DROP

Drag and drop the application protocols from the left onto the transport protocols that it uses on
the right.
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